ETRIAOZR (SFEAN)

TH5%8A 1ARE

BT £ 3 it BT £ 5 3 it
B ZEET 0 0 0 |= R HT 11 3 14
KIZHT 159 162 321 |%xHET 18 15 33
5T 2 2 4 |hBHT 4 9 13
= AT 279 290 569 |3 LLIAT 11 17 28
=AdaE 82 95 177 |77 SHT 10 11 21
S EHHET 5 4 9 ||[#aRET 0 5 5
= ] BT 86 84 170 (|ZET 11 20 31
FFHET 1 2 3 |5<ET 29 25 54
JKATET 35 40 75 ||[#R[RET 0 0 0
;A EHHET 4 16 20 T & HET 229 254 483
YR A< BT 0 0 0 ||Fa B /T 0 1 1
4/ SERET 8 14 22 |[#5 A ET 170 142 312
FF+EET 11 10 21 ||EE SHT 99 86 185
HH R HET 15 5 20 |[;EHET 0 0 0
SE ARET 11 18 29 |— & HT 2 4 6
Y& A BT 0 4 4 || <& FHT 40 50 90
HHHET 2 1 3 (R [RHET 175 249 424
J\BEHT 6 26 32 ||F&;HAET 31 48 79
FREAET 15 13 28
ZANHT 10 10 20
L AHT 0 1 1
b LR HT 5 8 13
JCHT 15 15 30
FHT 1 8 9
{ENSEET 21 23 4| & F 1,613 1,790 3,403




